

## County of Hernando

# Procurement and Grants

Toni Brady, Chief Procurement Officer 15470 Flight Path Drive, Brooksville, FL 34604

## **EVALUATION TABULATION**

ITB No. 23-CG0003/GL

# <u>Brooksville-Tampa Bay Airport - Eastside Roadway Improvements</u>

RESPONSE DEADLINE: June 19, 2023 at 10:00 am Report Generated: Tuesday, June 20, 2023

## **SELECTED VENDOR TOTALS**

Vendor	Total
B.R.W. Contracting, INC	\$2,549,665.25
Civil Site Constructors, Inc.	\$2,776,335.98
Crisdel Group Inc	\$3,889,614.85

6/28/23

Cale Rosst- Sunt

#### **SCHEDULE A**

## BASE BID (RESCUE WAY EXTENSION)

		SCHEDULE A			B.R.V	V. Contracting, I	NC	Civil Si	te Constructors,	. Inc.	C	risdel Group Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	ltem No.	Unit Cost	Total	Item No.
X	1	MOBILIZATION (BASE BID ONLY)	1	LS	\$50,000.00	\$50,000.00	FL-101-1	\$120,000.00	\$120,000.00	FL-101-1	\$318,655.00	\$318,655.00	FL-101-1
Х	2	MAINTENANCE OF TRAFFIC (BASE BID ONLY)	1	LS	\$35,000.00	\$35,000.00	FL-102-1	\$7,500.00	\$7,500.00	FL-102-1	\$22,309.29	\$22,309.29	FL-102-1

		SCHEDULE A			B.R.\	W. Contracting, I	INC	Civil S	ite Constructors	, Inc.	С	risdel Group Inc	:
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	3	PREVENTION, CONTROL, AND ABATEMENT OF EROSION AND WATER POLLUTION (BASE BID ONLY)	1	LS	\$15,000.00	\$15,000.00	FL-104-1	\$8,351.00	\$8,351.00	FL-104-1	\$35,687.40	\$35,687.40	FL-104-1
X	4	FULL DEPTH PAVEMENT DEMOLITION	140	SY	\$10.00	\$1,400.00	FL-110-1	\$5.00	\$700.00	FL-110-1	\$13.49	\$1,888.60	FL-110-1
X	5	PAVEMENT MARKING REMOVAL	1	LS	\$1,000.00	\$1,000.00	FL-110-5	\$3,500.00	\$3,500.00	FL-110-5	\$1,140.17	\$1,140.17	FL-110-5
Х	6	CLEARING AND GRUBBING	6240	SY	\$15.00	\$93,600.00	FL-110-6	\$2.40	\$14,976.00	FL-110-6	\$11.57	\$72,196.80	FL-110-6
Х	7	STRIPPING	2345	SY	\$1.50	\$3,517.50	FL-110-7	\$2.50	\$5,862.50	FL-110-7	\$5.32	\$12,475.40	FL-110-7
Х	8	REGULAR EXCAVATION	2075	CY	\$10.00	\$20,750.00	FL-120-1	\$8.00	\$16,600.00	FL-120-1	\$7.52	\$15,604.00	FL-120-1
Х	9	REWORKING EXISTING LIMEROCK BASE AT INTERFACE WITH NEW LIMEROCK BASE	150	LF	\$2.00	\$300.00	FL-210-1	\$15.00	\$2,250.00	FL-210-1	\$7.41	\$1,111.50	FL-210-1
Х	10	LIMEROCK BASE, 10-1/2" DEPTH	3600	SY	\$23.00	\$82,800.00	FL-285-1	\$18.00	\$64,800.00	FL-285-1	\$22.84	\$82,224.00	FL-285-1

		SCHEDULE A			\$5.00 \$2,950.00 FL-327-1 \$13.75 \$8,112.50 FL-327-1 \$14.25 \$8,407.50 FL-327-1 \$175.00 \$73,500.00 FL-334-1 \$162.00 \$68,040.00 FL-334-1 \$168.74 \$70,870.80 FL-334-1 \$40.00 \$39,000.00 FL-430-1 \$77.16 \$75,231.00 FL-430-1 \$48.08 \$46,878.00 FL-435 \$1,250.00 \$5,000.00 FL-430-2 \$1,144.00 \$4,576.00 FL-430-2 \$1,185.08 \$4,740.32 FL-435 \$1,250.00 \$1,185.08 \$1,250.00 \$1,		:						
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	11	MILLING EXISTING ASPHALT PAVEMENT	590	SY	\$5.00	\$2,950.00	FL-327-1	\$13.75	\$8,112.50	FL-327-1	\$14.25	\$8,407.50	FL-327-1
Х	12	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, SP-9.5	420	TN	\$175.00	\$73,500.00	FL-334-1	\$162.00	\$68,040.00	FL-334-1	\$168.74	\$70,870.80	FL-334-1
Х	13	8" PERFORATED UNDERDRAIN	975	LF	\$40.00	\$39,000.00	FL-430-1	\$77.16	\$75,231.00	FL-430-1	\$48.08	\$46,878.00	FL-430-1
X	14	UNDERDRAIN CLEANOUT	4	EA	\$1,250.00	\$5,000.00	FL-430-2	\$1,144.00	\$4,576.00	FL-430-2	\$1,185.08	\$4,740.32	FL-430-2
X	15	UNDERDRAIN OUTFALL	1	EA	\$2,500.00	\$2,500.00	FL-430-3	\$1,200.00	\$1,200.00	FL-430-3	\$669.49	\$669.49	FL-430-3
Х	16	15" RCP, CLASS III	228	LF	\$75.00	\$17,100.00	FL-430-4	\$75.00	\$17,100.00	FL-430-4	\$106.58	\$24,300.24	FL-430-4
X	17	15" CONCRETE MITERED END SECTION	8	EA	\$2,000.00	\$16,000.00	FL-430-5	\$2,400.00	\$19,200.00	FL-430-5	\$2,453.33	\$19,626.64	FL-430-5
X	18	REMOVE EXISTING CHAIN LINK FENCE OR GATE WITH BARB WIRE	65	LF	\$10.00	\$650.00	FL-550-2	\$20.00	\$1,300.00	FL-550-2	\$29.13	\$1,893.45	FL-550-2
X	19	PERFORMANCE TURF, SOD	5400	SY	\$5.00	\$27,000.00	FL-570-1	\$4.50	\$24,300.00	FL-570-1	\$6.15	\$33,210.00	FL-570-1
X	20	RAISED PAVEMENT MARKER, TYPE B	4	EA	\$10.00	\$40.00	FL-706-1	\$12.31	\$49.24	FL-706-1	\$17.10	\$68.40	FL-706-1

Invitation to Bid - Brooksville-Tampa Bay Airport - Eastside Roadway Improvements

		SCHEDULE A			B.R.\	W. Contracting,	INC	Civil S	ite Constructors	, Inc.	C	risdel Group Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	21	PAINTED PAVEMENT MARKINGS, FINAL SURFACE (TEMPORARY)	1	LS	\$3,100.00	\$3,100.00	FL-710-1	\$3,814.00	\$3,814.00	FL-710-1	\$3,534.51	\$3,534.51	FL-710-1
Х	22	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24"	25	LF	\$25.00	\$625.00	FL-711-3	\$30.00	\$750.00	FL-711-3	\$28.50	\$712.50	FL-711-3
X	23	POTABLE WATER MAIN, 8" PVC, INCLUDING ALL TAPS, FITTINGS, JOINT RESTRAINTS, LOCATE WIRE, TESTING, AND ALL OTHER NECESSARY ACTIVITIES AND APPURTENANCES REQUIRED FOR AN OPERATIONAL WATER MAIN	1450	LF	\$80.00	\$116,000.00	HC-101-1	\$78.65	\$114,042.50	HC-101-1	\$95.36	\$138,272.00	HC-101-1

		SCHEDULE A			B.R.\	W. Contracting,	INC	Civil S	ite Constructors	, Inc.	С	risdel Group Inc	:
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	24	FIRE HYDRANT ASSEMBLY, INCLUDING ALL TAPS, FITTINGS, PIPE, GATE VALVE, LOCATE WIRE, CONCRETE PADS, AND ALL OTHER NECESSARY APPURTENANCES FOR A COMPLETE AND OPERATIONAL HYDRANT	3	EA	\$9,500.00	\$28,500.00	HC-101-2	\$8,678.00	\$26,034.00	HC-101-2	\$13,303.15	\$39,909.45	HC-101-2
Х	25	8" GATE VALVE	6	EA	\$3,500.00	\$21,000.00	HC-101-3	\$3,248.00	\$19,488.00	HC-101-3	\$3,336.09	\$20,016.54	HC-101-3
X	26	8" GATE VALVE WITH FIRE STUBOUT AND PLUG	3	EA	\$4,500.00	\$13,500.00	HC-101-4	\$5,133.00	\$15,399.00	HC-101-4	\$6,098.29	\$18,294.87	HC-101-4
Х	27	TEMPORARY WATER JUMPER, INCLUDING ALL NECESSARY MATERIALS AND APPURTENANCES, AND REMOVAL	1	EA	\$4,000.00	\$4,000.00	HC-101-5	\$5,757.00	\$5,757.00	HC-101-5	\$7,256.32	\$7,256.32	HC-101-5

		SCHEDULE A			B.R.V	W. Contracting,	INC	Civil Si	ite Constructors	, Inc.	C	risdel Group Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	28	SANITARY SEWER, 8" PVC, INCLUDING ALL FITTINGS, JOINT RESTRAINTS, LOCATE WIRE, TESTING, AND ALL OTHER NECESSARY ACTIVITIES AND APPURTENANCES REQUIRED FOR AN OPERATIONAL SANITARY SEWER	600	LF	\$60.00	\$36,000.00	HC-101-6	\$61.97	\$37,182.00	HC-101-6	\$117.84	\$70,704.00	HC-101-6
X	29	SANITARY SEWER LATERAL, 6" PVC, INCLUDING ALL FITTINGS, JOINT RESTRAINTS, LOCATE WIRE, TESTING, AND ALL OTHER NECESSARY ACTIVITIES AND APPURTENANCES REQUIRED FOR AN OPERATIONAL SANITARY SEWER	120	LF	\$50.00	\$6,000.00	HC-101-7	\$42.60	\$5,112.00	HC-101-7	\$52.58	\$6,309.60	HC-101-7
X	30	SANITARY SEWER CLEANOUT, INCLUDING RISER PIPE, PLUG, AND ALL OTHER NECESSARY APPURTENANCES	3	EA	\$750.00	\$2,250.00	HC-101-8	\$397.00	\$1,191.00	HC-101-8	\$1,268.48	\$3,805.44	HC-101-8

		SCHEDULE A			B.R.V	V. Contracting, I	NC	Civil S	ite Constructors	, Inc.	C	risdel Group Inc	:
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	ltem No.	Unit Cost	Total	Item No.
X	31	SANITARY FORCE MAIN, 4" PVC, INCLUDING ALL FITTINGS, JOINT RESTRAINTS, LOCATE WIRE, TESTING, TIE-IN TO EXISTING MANHOLE, AND ALL OTHER NECESSARY ACTIVITIES AND APPURTENANCES REQUIRED FOR AN OPERATIONAL FORCE MAIN	135	LF	\$40.00	\$5,400.00	HC-101-9	\$122.00	\$16,470.00	HC-101-9	\$182.11	\$24,584.85	HC-101-9
Х	32	SANITARY SEWER MANHOLE, COMPLETE IN PLACE	4	EA	\$9,000.00	\$36,000.00	HC-101-10	\$6,072.00	\$24,288.00	HC-101-10	\$7,716.96	\$30,867.84	HC-101-10

		SCHEDULE A			B.R.V	V. Contracting,	INC	Civil Si	ite Constructors	, Inc.	С	risdel Group Inc	:
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	33	LIFT STATION, INCLUDING ALL MATERIALS AND EQUIPMENT, SERVICE LINES AND METER, ELECTRICAL WORK, CONCRETE, FITTINGS, PLUMBING FOR FUTURE EXPANSION, AND ALL OTHER NECESSARY MATERIALS, APPURTENANCES, AND ACTIVITIES REQUIRED FOR AN OPERATIONAL LIFT STATION	1	EA	\$365,000.00	\$365,000.00	HC-101-11	\$465,000.00	\$465,000.00	HC-101-11	\$504,381.19	\$504,381.19	HC-101-11
X	34	REMOVE EXISTING POTABLE WATER MAIN, 6", INCLUDING PLUG AT EXISTING MAIN TO REMAIN	175	LF	\$15.00	\$2,625.00	HC-101-12	\$12.00	\$2,100.00	HC-101-12	\$36.53	\$6,392.75	HC-101-12

		SCHEDULE A			B.R.\	W. Contracting,	INC	Civil Si	ite Constructors	, Inc.	С	risdel Group Ind	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	35	REMOVE EXISTING FIRE HYDRANT ASSEMBLY, INCLUDING GATE VALVE, CONCRETE, FITTINGS, AND ALL OTHER RELATED INCIDENTAL REMOVAL	1	EA	\$750.00	\$750.00	HC-101-13	\$2,500.00	\$2,500.00	HC-101-13	\$971.50	\$971.50	HC-101-13
X	36	CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH	220	LF	\$60.00	\$13,200.00	F-162-2	\$108.00	\$23,760.00	F-162-2	\$51.31	\$11,288.20	F-162-2
X	37	SLIDING VEHICLE GATE, 6' WITH BARBED WIRE, 16' CLEAR OPENING, BLACK PVC COATED FINISH	1	EA	\$5,937.50	\$5,937.50	F-162-3	\$10,000.00	\$10,000.00	F-162-3	\$6,692.77	\$6,692.77	F-162-3
X	38	DUAL LEAF SWING GATE, 6' WITH BARBED WIRE, 24' CLEAR OPENING, BLACK PVC COATED FINISH	1	EA	\$5,312.50	\$5,312.50	F-162-4	\$8,704.00	\$8,704.00	F-162-4	\$3,933.57	\$3,933.57	F-162-4

	GOPHER 1 TORTOISE SURVEY AND PERMIT				B.R.\	W. Contracting, I	NC	Civil Si	ite Constructors	, Inc.	С	risdel Group Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	ltem No.	Unit Cost	Total	ltem No.	Unit Cost	Total	Item No.
Х	39	TORTOISE SURVEY AND	1	LS	\$1,500.00	\$1,500.00	GT-1	\$1,380.00	\$1,380.00	GT-1	\$1,368.20	\$1,368.20	GT-1
Х	40		15	EA	\$812.50	\$12,187.50	GT-2	\$747.50	\$11,212.50	GT-2	\$741.11	\$11,116.65	GT-2
X	41	GOPHER TORTOISE RELOCATION	10	EA	\$7,500.00	\$75,000.00	GT-3	\$6,745.00	\$67,450.00	GT-3	\$6,687.08	\$66,870.80	GT-3
BASE BID (R	escue Way Ex	rtension)											
Total	BID (Rescue Way Extension)					\$1,240,995.00			\$1,325,282.24			\$1,751,240.55	

## **SCHEDULE B**

# ADDITIVE BID 1 (RAILPARK DRIVE)

		SCHEDULE B			B.R.\	V. Contracting,	. INC	Civil Si	te Constructor	s, Inc.	С	risdel Group In	C
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	ltem No.	Unit Cost	Total	ltem No.	Unit Cost	Total	ltem No.
Х	42	MOBILIZATION (ADDITIVE BID 1 ONLY)	1	LS	\$25,000.00	\$25,000.00	FL-101-1	\$50,000.00	\$50,000.00	FL-101-1	\$170,524.43	\$170,524.43	FL-101-1
Х	43	MAINTENANCE OF TRAFFIC (ADDITIVE BID 1 ONLY)	1	LS	\$25,000.00	\$25,000.00	FL-102-1	\$5,000.00	\$5,000.00	FL-102-1	\$33,513.39	\$33,513.39	FL-102-1

		SCHEDULE B			B.R.\	W. Contracting,	INC	Civil S	ite Constructor	s, Inc.	С	risdel Group In	c
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	44	PREVENTION, CONTROL, AND ABATEMENT OF EROSION AND WATER POLLUTION (ADDITIVE BID 1 ONLY)	1	LS	\$10,000.00	\$10,000.00	FL-104-1	\$5,000.00	\$5,000.00	FL-104-1	\$38,824.44	\$38,824.44	FL-104-1
X	45	FULL DEPTH PAVEMENT DEMOLITION	4235	SY	\$6.00	\$25,410.00	FL-110-1	\$5.00	\$21,175.00	FL-110-1	\$10.84	\$45,907.40	FL-110-1
X	46	REMOVE EXISTING 24" CMP	250	LF	\$15.00	\$3,750.00	FL-110-2	\$25.00	\$6,250.00	FL-110-2	\$27.15	\$6,787.50	FL-110-2
X	47	REMOVE EXISTING 18"x 24" RCP	55	LF	\$15.00	\$825.00	FL-110-3	\$25.00	\$1,375.00	FL-110-3	\$31.05	\$1,707.75	FL-110-3
X	48	REMOVE EXISTING MITERED END SECTION OR HEADWALL	10	EA	\$1,000.00	\$10,000.00	FL-110-4	\$450.00	\$4,500.00	FL-110-4	\$341.53	\$3,415.30	FL-110-4
X	49	PAVEMENT MARKING REMOVAL	1	LS	\$2,500.00	\$2,500.00	FL-110-5	\$1,800.00	\$1,800.00	FL-110-5	\$1,140.17	\$1,140.17	FL-110-5
Х	50	CLEARING AND GRUBBING	735	SY	\$15.00	\$11,025.00	FL-110-6	\$2.40	\$1,764.00	FL-110-6	\$41.63	\$30,598.05	FL-110-6
Х	51	STRIPPING	2315	SY	\$2.00	\$4,630.00	FL-110-7	\$2.50	\$5,787.50	FL-110-7	\$5.39	\$12,477.85	FL-110-7

		SCHEDULE B			B.R.	W. Contracting,	INC	Civil S	ite Constructor	rs, Inc.	C	Crisdel Group In	С
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	52	REMOVE AND REPLACE MAILBOX	2	EA	\$350.00	\$700.00	FL-110-8	\$400.00	\$800.00	FL-110-8	\$751.97	\$1,503.94	FL-110-8
Х	53	REGULAR EXCAVATION	300	CY	\$10.00	\$3,000.00	FL-120-1	\$8.00	\$2,400.00	FL-120-1	\$17.33	\$5,199.00	FL-120-1
Х	54	REGRADING EXISTING ROADSIDE SWALE	2395	LF	\$2.00	\$4,790.00	FL-120-2	\$5.00	\$11,975.00	FL-120-2	\$5.30	\$12,693.50	FL-120-2
X	55	REWORKING EXISTING LIMEROCK BASE AT INTERFACE WITH NEW LIMEROCK BASE	125	LF	\$10.00	\$1,250.00	FL-210-1	\$15.00	\$1,875.00	FL-210-1	\$8.81	\$1,101.25	FL-210-1
Х	56	LIMEROCK BASE, 13-1/2" DEPTH	4600	SY	\$29.00	\$133,400.00	FL-285-2	\$19.40	\$89,240.00	FL-285-2	\$27.41	\$126,086.00	FL-285-2
Х	57	MILLING EXISTING ASPHALT PAVEMENT	300	SY	\$6.00	\$1,800.00	FL-327-1	\$15.67	\$4,701.00	FL-327-1	\$27.14	\$8,142.00	FL-327-1
Х	58	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, SP-9.5	575	TN	\$175.00	\$100,625.00	FL-334-1	\$161.70	\$92,977.50	FL-334-1	\$167.60	\$96,370.00	FL-334-1
Х	59	RUMBLE STRIPS	1	LS	\$2,500.00	\$2,500.00	FL-334-2	\$2,500.00	\$2,500.00	FL-334-2	\$1,425.21	\$1,425.21	FL-334-2
Х	60	19"X30" ERCP, CLASS III	200	LF	\$150.00	\$30,000.00	FL-430-8	\$85.00	\$17,000.00	FL-430-8	\$175.95	\$35,190.00	FL-430-8

		SCHEDULE B			B.R.\	W. Contracting	, INC	Civil S	ite Constructor	s, Inc.	С	risdel Group In	С
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	61	19"X30" CONCRETE MITERED END SECTION	10	EA	\$3,500.00	\$35,000.00	FL-430-9	\$3,500.00	\$35,000.00	FL-430-9	\$3,085.16	\$30,851.60	FL-430-9
X	62	PERFORMANCE TURF, SOD	4350	SY	\$5.00	\$21,750.00	FL-570-1	\$4.50	\$19,575.00	FL-570-1	\$6.27	\$27,274.50	FL-570-1
X	63	RAISED PAVEMENT MARKER, TYPE B	19	EA	\$10.00	\$190.00	FL-706-1	\$12.31	\$233.89	FL-706-1	\$17.10	\$324.90	FL-706-1
X	64	PAINTED PAVEMENT MARKINGS, FINAL SURFACE (TEMPORARY)	1	LS	\$3,100.00	\$3,100.00	FL-710-1	\$3,814.00	\$3,814.00	FL-710-1	\$3,534.51	\$3,534.51	FL-710-1
X	65	PAINTED PAVEMENT MARKINGS, YELLOW AND WHITE, RUMBLE STRIP	1	LS	\$2,650.00	\$2,650.00	FL-710-2	\$3,310.00	\$3,310.00	FL-710-2	\$4,492.26	\$4,492.26	FL-710-2
X	66	THERMOPLASTIC, STANDARD, WHITE, SOLID, 8"	150	LF	\$2.00	\$300.00	FL-711-2	\$2.92	\$438.00	FL-711-2	\$2.70	\$405.00	FL-711-2
X	67	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24"	100	LF	\$25.00	\$2,500.00	FL-711-3	\$30.76	\$3,076.00	FL-711-3	\$28.50	\$2,850.00	FL-711-3
X	68	THERMOPLASTIC, STANDARD, WHITE, ARROWS	4	EA	\$150.00	\$600.00	FL-711-4	\$154.00	\$616.00	FL-711-4	\$142.52	\$570.08	FL-711-4

		SCHEDULE B			B.R.V	W. Contracting,	INC	Civil Si	ite Constructor	s, Inc.	С	risdel Group In	С
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	69	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"	525	LF	\$1.50	\$787.50	FL-711-5	\$1.87	\$981.75	FL-711-5	\$1.73	\$908.25	FL-711-5
X	70	GOPHER TORTOISE SURVEY AND PERMIT	1	LS	\$1,500.00	\$1,500.00	GT-1	\$1,380.00	\$1,380.00	GT-1	\$1,368.20	\$1,368.20	GT-1
X	71	GOPHER TORTOISE EXCAVATION	5	EA	\$812.50	\$4,062.50	GT-2	\$747.50	\$3,737.50	GT-2	\$741.11	\$3,705.55	GT-2
X	72	GOPHER TORTOISE RELOCATION	3	EA	\$7,500.00	\$22,500.00	GT-3	\$6,745.00	\$20,235.00	GT-3	\$6,687.07	\$20,061.21	GT-3
ADDITIVE BII	D 1 (RAILPARK	( DRIVE)		-	'			I	+	ı	-	1	
Total						\$491,145.00			\$418,517.14			\$728,953.24	

# SCHEDULE C

# ADDITIVE BID 2 (AMERICAN FLYER WAY & RUNWAY DRIVE)

					B.R.V	V. Contracting,	INC	Civil S	te Constructors	, Inc.	С	risdel Group Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	ltem No.	Unit Cost	Total	ltem No.
X	73	MOBILIZATION (ADDITIVE BID 2 ONLY)	1	LS	\$25,000.00	\$25,000.00	FL-101-1	\$80,000.00	\$80,000.00	FL-101-1	\$344,416.48	\$344,416.48	FL-101-1

		SCHEDULE C			B.R.V	V. Contracting,	INC	Civil S	ite Constructors	s, Inc.	C	risdel Group Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	74	MAINTENANCE OF TRAFFIC (ADDITIVE BID 2 ONLY)	1	LS	\$25,000.00	\$25,000.00	FL-102-1	\$9,500.00	\$9,500.00	FL-102-1	\$39,282.48	\$39,282.48	FL-102-1
X	75	PREVENTION, CONTROL, AND ABATEMENT OF EROSION AND WATER POLLUTION (ADDITIVE BID 2 ONLY)	1	LS	\$15,000.00	\$15,000.00	FL-104-1	\$15,870.00	\$15,870.00	FL-104-1	\$72,720.28	\$72,720.28	FL-104-1
Х	76	FULL DEPTH PAVEMENT DEMOLITION	300	SY	\$10.00	\$3,000.00	FL-110-1	\$5.00	\$1,500.00	FL-110-1	\$45.31	\$13,593.00	FL-110-1
Х	77	REMOVE EXISTING 18"x 24" RCP	67	LF	\$15.00	\$1,005.00	FL-110-3	\$25.00	\$1,675.00	FL-110-3	\$32.02	\$2,145.34	FL-110-3
X	78	REMOVE EXISTING MITERED END SECTION OR HEADWALL	3	EA	\$1,500.00	\$4,500.00	FL-110-4	\$1,200.00	\$3,600.00	FL-110-4	\$1,138.43	\$3,415.29	FL-110-4
Х	79	PAVEMENT MARKING REMOVAL	1	LS	\$4,500.00	\$4,500.00	FL-110-5	\$1,500.00	\$1,500.00	FL-110-5	\$1,140.17	\$1,140.17	FL-110-5
Х	80	CLEARING AND GRUBBING	2470	SY	\$10.00	\$24,700.00	FL-110-6	\$2.40	\$5,928.00	FL-110-6	\$14.69	\$36,284.30	FL-110-6
Х	81	STRIPPING	13985	SY	\$1.50	\$20,977.50	FL-110-7	\$2.50	\$34,962.50	FL-110-7	\$5.32	\$74,400.20	FL-110-7

		SCHEDULE C			B.R.\	W. Contracting,	INC	Civil S	Site Constructors	, Inc.	(	Crisdel Group Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	82	REMOVE AND REPLACE MAILBOX	6	EA	\$350.00	\$2,100.00	FL-110-8	\$400.00	\$2,400.00	FL-110-8	\$751.98	\$4,511.88	FL-110-8
Х	83	REGULAR EXCAVATION	1450	CY	\$10.00	\$14,500.00	FL-120-1	\$8.00	\$11,600.00	FL-120-1	\$14.35	\$20,807.50	FL-120-1
Х	84	REGRADING EXISTING ROADSIDE SWALE	4865	LF	\$2.00	\$9,730.00	FL-120-2	\$5.00	\$24,325.00	FL-120-2	\$11.21	\$54,536.65	FL-120-2
X	85	REWORKING EXISTING LIMEROCK BASE AT INTERFACE WITH NEW LIMEROCK BASE	7025	LF	\$1.50	\$10,537.50	FL-210-1	\$15.00	\$105,375.00	FL-210-1	\$6.39	\$44,889.75	FL-210-1
Х	86	LIMEROCK BASE, 13-1/2" DEPTH	2560	SY	\$29.00	\$74,240.00	FL-285-2	\$50.00	\$128,000.00	FL-285-2	\$27.99	\$71,654.40	FL-285-2
Х	87	MILLING EXISTING ASPHALT PAVEMENT	9600	SY	\$2.50	\$24,000.00	FL-327-1	\$3.00	\$28,800.00	FL-327-1	\$5.99	\$57,504.00	FL-327-1
X	88	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, SP- 12.5	1350	TN	\$175.00	\$236,250.00	FL-334-1	\$161.00	\$217,350.00	FL-334-1	\$167.60	\$226,260.00	FL-334-1
Х	89	RUMBLE STRIPS	1	LS	\$2,500.00	\$2,500.00	FL-334-2	\$5,000.00	\$5,000.00	FL-334-2	\$1,419.51	\$1,419.51	FL-334-2

		SCHEDULE C			B.R.V	V. Contracting,	, INC	Civil S	ite Constructors	s, Inc.	C	risdel Group Inc	:
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	90	DITCH BOTTOM INLET, TYPE H, INCLUDING SWALE PAVEMENT AT SLOT	1	EA	\$15,000.00	\$15,000.00	FL-425-1	\$9,520.00	\$9,520.00	FL-425-1	\$12,855.77	\$12,855.77	FL-425-1
Х	91	18" RCP, CLASS III	70	LF	\$100.00	\$7,000.00	FL-430-6	\$84.00	\$5,880.00	FL-430-6	\$109.25	\$7,647.50	FL-430-6
Х	92	18" CONCRETE MITERED END SECTION	1	EA	\$3,000.00	\$3,000.00	FL-430-7	\$2,615.00	\$2,615.00	FL-430-7	\$2,731.36	\$2,731.36	FL-430-7
Х	93	24" RCP, CLASS III	50	LF	\$150.00	\$7,500.00	FL-430-10	\$111.00	\$5,550.00	FL-430-10	\$204.94	\$10,247.00	FL-430-10
X	94	36" CONCRETE MITERED END SECTION	1	EA	\$6,500.00	\$6,500.00	FL-430-11	\$5,098.00	\$5,098.00	FL-430-11	\$7,252.88	\$7,252.88	FL-430-11
X	95	STRAIGHT CONCRETE ENDWALLS, 24", DOUBLE	1	EA	\$10,000.00	\$10,000.00	FL-430-12	\$4,746.00	\$4,746.00	FL-430-12	\$9,259.34	\$9,259.34	FL-430-12
X	96	REMOVE EXISTING CHAIN LINK FENCE OR GATE WITH BARB WIRE	1320	LF	\$1.00	\$1,320.00	FL-550-2	\$14.38	\$18,981.60	FL-550-2	\$20.97	\$27,680.40	FL-550-2
Х	97	PERFORMANCE TURF, SOD	15450	SY	\$5.00	\$77,250.00	FL-570-1	\$4.50	\$69,525.00	FL-570-1	\$5.98	\$92,391.00	FL-570-1

		SCHEDULE C			B.R.V	V. Contracting	, INC	Civil S	ite Constructor	s, Inc.	C	risdel Group Inc	:
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
X	98	SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	3	EA	\$500.00	\$1,500.00	FL-700-1	\$491.00	\$1,473.00	FL-700-1	\$486.85	\$1,460.55	FL-700-1
Х	99	RAISED PAVEMENT MARKER, TYPE B	13	EA	\$10.00	\$130.00	FL-706-1	\$11.50	\$149.50	FL-706-1	\$17.10	\$222.30	FL-706-1
Х	100	PAINTED PAVEMENT MARKINGS, FINAL SURFACE (TEMPORARY)	1	LS	\$3,100.00	\$3,100.00	FL-710-1	\$3,565.00	\$3,565.00	FL-710-1	\$3,534.51	\$3,534.51	FL-710-1
X	101	PAINTED PAVEMENT MARKINGS, YELLOW AND WHITE, RUMBLE STRIP	1	LS	\$2,650.00	\$2,650.00	FL-710-2	\$3,047.50	\$3,047.50	FL-710-2	\$3,021.44	\$3,021.44	FL-710-2
X	102	THERMOPLASTIC, STANDARD, WHITE, SOLID, 6"	5675	LF	\$1.65	\$9,363.75	FL-711-1	\$1.75	\$9,931.25	FL-711-1	\$1.73	\$9,817.75	FL-711-1
Х	103	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24"	115	LF	\$25.00	\$2,875.00	FL-711-3	\$28.75	\$3,306.25	FL-711-3	\$28.50	\$3,277.50	FL-711-3
X	104	THERMOPLASTIC, STANDARD, WHITE, MESSAGE OR SYMBOL	2	EA	\$500.00	\$1,000.00	FL-711-4	\$345.00	\$690.00	FL-711-4	\$342.05	\$684.10	FL-711-4

	SCHEDULE C			B.R.V	V. Contracting,	INC	Civil S	lite Constructors	, Inc.	C	Crisdel Group Inc	:
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
105	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"	1460	LF	\$1.65	\$2,409.00	FL-711-5	\$1.75	\$2,555.00	FL-711-5	\$1.73	\$2,525.80	FL-711-5
106	CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH	65	LF	\$100.00	\$6,500.00	F-162-1	\$106.00	\$6,890.00	F-162-1	\$45.61	\$2,964.65	F-162-1
107	CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH	1220	LF	\$60.00	\$73,200.00	F-162-2	\$98.90	\$120,658.00	F-162-2	\$51.31	\$62,598.20	F-162-2
108	GOPHER TORTOISE SURVEY AND PERMIT	1	LS	\$2,500.00	\$2,500.00	GT-1	\$2,300.00	\$2,300.00	GT-1	\$2,280.33	\$2,280.33	GT-1
109	GOPHER TORTOISE EXCAVATION	15	EA	\$812.50	\$12,187.50	GT-2	\$748.00	\$11,220.00	GT-2	\$741.11	\$11,116.65	GT-2
110	GOPHER TORTOISE RELOCATION	10	EA	\$7,500.00	\$75,000.00	GT-3	\$6,745.00	\$67,450.00	GT-3	\$6,687.08	\$66,870.80	GT-3
	105 106 107 108	Line Item Description  105 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"  106 CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH  107 CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH  108 GOPHER TORTOISE SURVEY AND PERMIT  109 GOPHER TORTOISE EXCAVATION  110 GOPHER TORTOISE	Line Item     Description     Quantity       105     THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"     1460       106     CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH     65       107     CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH     1220       108     GOPHER TORTOISE SURVEY AND PERMIT     1       109     GOPHER TORTOISE EXCAVATION     15       110     GOPHER TORTOISE     10       110     GOPHER TORTOISE     10	Line Item     Description     Quantity     Unit of Measure       105     THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"     1460     LF       106     CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH     65     LF       107     CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH     1 LS       108     GOPHER TORTOISE SURVEY AND PERMIT     1     LS       109     GOPHER TORTOISE EXCAVATION     15     EA       110     GOPHER TORTOISE     10     EA	Line ItemDescriptionQuantityUnit of MeasureUnit Cost105THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"1460LF\$1.65106CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH65LF\$100.00107CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH1220LF\$60.00108GOPHER TORTOISE SURVEY AND PERMIT1LS\$2,500.00109GOPHER TORTOISE EXCAVATION15EA\$812.50110GOPHER TORTOISE10EA\$7,500.00	Line Item         Description         Quantity         Unit of Measure         Unit Cost         Total           105         THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"         1460         LF         \$1.65         \$2,409.00           106         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH         65         LF         \$100.00         \$6,500.00           107         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH         1220         LF         \$60.00         \$73,200.00           108         GOPHER TORTOISE SURVEY AND PERMIT         1         LS         \$2,500.00         \$2,500.00           109         GOPHER TORTOISE EXCAVATION         15         EA         \$812.50         \$12,187.50           110         GOPHER TORTOISE         10         EA         \$7,500.00         \$75,000.00	Line Item         Description         Quantity         Unit of Measure         Unit Cost         Total         Item No.           105         THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"         1460         LF         \$1.65         \$2,409.00         FL-711-5           106         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH         65         LF         \$100.00         \$6,500.00         F-162-1           107         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH         1220         LF         \$60.00         \$73,200.00         F-162-2           108         GOPHER TORTOISE SURVEY AND PERMIT         LS         \$2,500.00         \$2,500.00         GT-1           109         GOPHER TORTOISE EXCAVATION         15         EA         \$812.50         \$12,187.50         GT-2           110         GOPHER TORTOISE         10         EA         \$7,500.00         \$75,000.00         GT-3	Line Item         Description         Quantity         Unit of Measure         Unit Cost         Total         Item No.         Unit Cost           105         THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"         1460         LF         \$1.65         \$2,409.00         FL-711-5         \$1.75           106         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH         65         LF         \$100.00         \$6,500.00         F-162-1         \$106.00           107         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH         1220         LF         \$60.00         \$73,200.00         F-162-2         \$98.90           108         GOPHER TORTOISE SURVEY AND PERMIT         LS         \$2,500.00         \$2,500.00         GT-1         \$2,300.00           109         GOPHER TORTOISE EXCAVATION         15         EA         \$812.50         \$12,187.50         GT-2         \$748.00           110         GOPHER TORTOISE         10         EA         \$7,500.00         \$75,000.00         GT-3         \$6,745.00	Line Item         Description         Quantity         Unit of Measure         Unit Cost         Total         Item No.         Unit Cost         Total           105         THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"         1460         LF         \$1.65         \$2,409.00         FL-711-5         \$1.75         \$2,555.00           106         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH         65         LF         \$100.00         \$6,500.00         F-162-1         \$106.00         \$6,890.00           107         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GLACK PVC COATED FINISH         1220         LF         \$60.00         \$73,200.00         F-162-2         \$98.90         \$120,658.00           108         GOPHER TORTOISE SURVEY AND PERMIT         1         LS         \$2,500.00         \$2,500.00         GT-1         \$2,300.00         \$2,300.00           109         GOPHER TORTOISE EXCAVATION         15         EA         \$812.50         \$12,187.50         GT-2         \$748.00         \$11,220.00           110         GOPHER TORTOISE         10         EA         \$7,500.00         \$75,000.00         GT-3         \$6,745.00         \$67,450.00	Line Item         Description         Quantity         Unit of Measure         Unit Cost         Total         Item No.         Unit Cost         Total         Item No.           105         THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"         1460         LF         \$1.65         \$2,409.00         FL-711-5         \$1.75         \$2,555.00         FL-711-5           106         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, GALVANIZED FINISH         65         LF         \$100.00         \$6,500.00         F-162-1         \$106.00         \$6,890.00         F-162-1           107         CHAIN-LINK FENCE, 6' WITH BARBED WIRE, BLACK PVC COATED FINISH         1220         LF         \$60.00         \$73,200.00         F-162-2         \$98.90         \$120,658.00         F-162-2           108         GOPHER TORTOISE SURVEY AND PERMIT         1         LS         \$2,500.00         \$2,500.00         GT-1         \$2,300.00         \$2,300.00         GT-1           109         GOPHER TORTOISE EXCAVATION         15         EA         \$812.50         \$12,187.50         GT-2         \$748.00         \$11,220.00         GT-2           110         GOPHER TORTOISE         10         EA         \$7,500.00         \$75,000.00         GT-3         \$6,745.00         \$67,450.00         GT-3	Line Item   Description   Quantity   Unit of Measure   Unit Cost   Total   Item No.   Unit Cost   Total   Item No.   Unit Cost	Line Item         Description         Quantity         Unit Of Measure         Unit Cost         Total         Item No.         Unit Cost         Total         Item No.         Unit Cost         Total           105         THERMOPLASTIC, STANDARD, YELLOW, SOILD, 6"         1460         LF         \$1.65         \$2,409.00         FI-711-5         \$1.75         \$2,555.00         FI-711-5         \$1.73         \$2,525.80           106         CHAIN-LINK FENCE, 6 WITH BARBED WIRE, GALVANIZED FINISH         65         LF         \$100.00         \$6,500.00         F-162-1         \$106.00         \$6,890.00         F-162-1         \$45.61         \$2,964.65           107         CHAIN-LINK FENCE, 6 WITH BARBED WIRE, BLACK PVC COATED FINISH         1220         LF         \$60.00         \$73,200.00         F-162-2         \$98.90         \$120,658.00         F-162-2         \$51.31         \$62,598.20           108         GOPHER TORTOISE SURVEY AND PERMIT         1         LS         \$2,500.00         \$2,500.00         GT-1         \$2,300.00         \$74.11         \$11,116.65           109         GOPHER TORTOISE EXCAVATION         15         EA         \$812.50         \$12,187.50         GT-2         \$748.00         \$11,220.00         GT-2         \$741.11         \$11,116.65           109 </td

# **VENDOR QUESTIONNAIRE PASS/FAIL**

Question Title	B.R.W. Contracting, INC	Civil Site Constructors, Inc.	Crisdel Group Inc	The Reserves Network
THE UNDERSIGNED, BEING DULY AUTHORIZED TO SUBMIT THIS BID ON BEHALF OF THE BIDDER, AGREES THAT THIS OFFER IF ACCEPTED WITHIN ONE HUNDRED TWENTY (120) DAYS FROM THE BID OPENING DATE, TO FURNISH TO HERNANDO COUNTY ANY AND ALL ITEMS FOR WHICH PRICES ARE OFFERED IN THIS BID SOLICITATION AT THE PRICE(S) SO OFFERED, DELIVERED AT DESIGNATED POINT(S), WITHIN THE TIME PERIOD SPECIFIED, AND AT THE TERMS AND CONDITIONS SO STIPULATED IN THE SOLICITATION FOR BIDS.	Pass	Pass	Pass	No Response
Authorized person	Pass	Pass	Pass	No Response
Authorized Person's information	Pass	Pass	Pass	No Response
Bidder accepts all of the terms and conditions of the Instructions to Bidders, including without limitation those dealing with the disposition of bid security.	Pass	Pass	Pass	No Response
Upload Florida Permit	Pass	Pass	Pass	No Response
Bidder Acknowledgement	Pass	Pass	Pass	No Response

Invitation to Bid - Brooksville-Tampa Bay Airport - Eastside Roadway Improvements

Question Title	B.R.W. Contracting, INC	Civil Site Constructors, Inc.	Crisdel Group Inc	The Reserves Network
BID FORM CONFIRMATION	Pass	Pass	Pass	No Response
Company Information	Pass	Pass	Pass	No Response
Bid Bond Confirmation	Pass	Pass	Pass	No Response
Bidder confirmation (proposal one)	Pass	Pass	Pass	No Response
Full names and addresses (proposal two)	Pass	Pass	Pass	No Response
BID GUARANTEE	Pass	Pass	Pass	No Response
Please provide construction experience	Pass	Pass	Pass	No Response
Experience detail	Pass	Pass	Pass	No Response
Drug Free Workplace Certification	Pass	Pass	Pass	No Response
Affidavit of Non Collusion and of Non-Interest of Hernando County Employees	Pass	Pass	Pass	No Response
Sworn Statement				
Sworn Statement 287.133 (3) (a)	Pass	Pass	Pass	No Response
f you choose option 3, please attach a copy of the final order	Pass	Pass	Pass	No Response
Authorized Signatures/Negotiators				
Authorized Signatures/Negotiators	Pass	Pass	Pass	No Response

Question Title	B.R.W. Contracting, INC	Civil Site Constructors, Inc.	Crisdel Group Inc	The Reserves Network
Type of Organization	Pass	Pass	Pass	No Response
Company ID	Pass	Pass	Pass	No Response
W9 Form	Pass	Pass	Pass	No Response
ACH electronic payment	Pass	Pass	Pass	No Response
E-VERIFY CERTIFICATION				
E-Verify Certification	Pass	Pass	Pass	No Response
CONSTRUCTION CONTRACTOR QUALIFICATION SUBMITTAL REQUIREMENTS				
References	Pass	Pass	Pass	No Response
Key Subcontractors	Pass	Pass	Pass	No Response
Vendor/Contractor's License	Pass	Pass	Pass	No Response
ORGANIZATION CHART:	Pass	Pass	Pass	No Response
PROJECT MANAGER AND SUPERINTENDENT QUALIFICATIONS:	Pass	Pass	Pass	No Response
BIDDER/KEY SUBCONTRACTOR SPECIFIC QUALIFICATIONS:	Pass	Pass	Pass	No Response
VENDOR/CONTRACTOR'S LICENSE				
VENDOR/CONTRACTOR'S LICENSE	Pass	Pass	Pass	No Response
Additional Required Forms				
Trench Safety Act Compliance	Pass	Pass	Pass	No Response
Corporate Affidavit	Pass	Pass	Pass	No Response

Invitation to Bid - Brooksville-Tampa Bay Airport - Eastside Roadway Improvements

Question Title	B.R.W. Contracting, INC	Civil Site Constructors, Inc.	Crisdel Group Inc	The Reserves Network
Bid Bond Form	Pass	Pass	Pass	No Response
VENDOR CERTIFICATION REGARDING SCRUTINIZED COMPANIES	Pass	Pass	Pass	No Response
HERNANDO COUNTY EMPLOYMENT DISCLOSURE CERTIFICATION STATEMENT				
Is any officer, partner, director, proprietor, associate or member of the business entity a former employee of Hernando County within the last two (2) years?	Pass	Pass	Pass	No Response
Is any officer, partner, director, proprietor, associate or member of the business entity a relative or member of the household of a current Hernando County employee that had or will have any involvement with this procurement or contract authorization?	Pass	Pass	Pass	No Response
Relatives and Former Hernando County Employees - Roles and Signatures	Pass	Pass	Pass	No Response
GRANT COMPLIANCE				
SUSPENSION DEBARMENT CERTIFICATION	Pass	Pass	Pass	No Response

Question Title	B.R.W. Contracting, INC	Civil Site Constructors, Inc.	Crisdel Group Inc	The Reserves Network
DBE-SUB STATEMENT FORM	Pass	Pass	Pass	No Response
CERTIFICATION REGARDING LOBBYING FOR CONTRACT, GRANTS, LOANS AND COOPERATIVE AGREEMENTS	Pass	Pass	Pass	No Response
DISCLOSURE OF LOBBYING ACTIVITIES	Pass	Pass	Pass	No Response
CONTRACT WORK HOURS AND SAFETY STANDARDS ACT ACKNOWLEDGEMENT	Pass	Pass	Pass	No Response
BABA Certification Form	Pass	Pass	Pass	No Response
Vendor Survey				
Vendor Survey	Pass	Pass	Pass	No Response
Vendor Survey - Other	Pass	Pass	Pass	No Response
Sample Construction Agreement	Pass	Pass	Pass	No Response
Solicitation - Offer - Award	Pass	Pass	Pass	No Response